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[Time: 2:30 Hours]

Please check whether you have got the righ
1. All question are compulsory.
2. Figures to the right indicate full marks,

N.B:

Q1(A)

Attempt 8 out of 10 sub questions, Select the correct
(A-1)

The simple interest for an investment of Rs. 10,0004t 59

a. Rs.1,500/-

b. Rs. 1.600/-

¢. Rs.1,400/-

d. None of these
{A-2) The future value after 3 years of Rs,.2
interest rate is: ‘
a. Rs. 24,142
b. Rs. 26,620
€. Rs. 23,872
d. None of these

08

.a. Sl=pnr/100.
b. Sl=P+n+1:

is 8% of Fv
‘ompany is 8 %
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(A-8) A sequence of payments made at successive time periods or interval
a. Annuity
b. Net present value
¢.  Internal rate of return
d. None of these
{A-9) Simple interest and compound interest for first ye

a. same
b. added every year by the bank
¢. different

'd. None of these
(A-10) A sinking fund is an example of

a. EMI

b. Annuity

c. Simple interest

d. None of these

(B) Attempt 7 out of 10 sub Que

07
(B-1) 2:3 and 3:2 are inverse rati

08

percent per 07

s saving was Rs. 1500/~ find Mr. Mehta's salary. 08
y of Rs, 5000 for 6 years at 9 % pa.
<In 4 days, how many toys will 6 workers make? 07

ve'their capital in the ratio 3:5:2, They make profit of Rs. 10,000/- at the 08"

3, 59 ight for Rs. 2,00,000/-. Calculate its depreciated value after 10 years at 07
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Q.3 (3-¢)

Q.4 (4-a)

Q.5

"';Dlwdend remvestment plan
Net present value of a p!‘OjECt
IS &

Statedand Effe

Write any three shbrt not

OR

12% pa, find the EMI using reducmg balance method.
Calculate effective interest rate equivalent to nommal mtere

yearly.
Find NPV of the following project, given the co:
Year 0 1 %

Cash flow (in Rs) | -10000 5000 -

interest.
I he face value of a company's share
share of this company, how much di\
Mr. Basu bought 50 shares at
MV was Rs. 66. Find the ga_in

es and m /)
OR : S
"1C]Ci PrudentlatTo %

Mr. Patel invested Rs. SO 000
Rs. 138.850, 1CICI Prud”

: hen |ts NAV was 08
't‘m this scheme. If Mr. Patel
mg the dividend, calculate

in
ntial. dedared d:vndend of Rst I
redeemed all the umts when ltS NAV was Rs 152 354 after recex,

his gain/loss in 9% L0 A
At what compound mterest rate wzH Rs'- 33 OOO al

unt to Rs. 48,315.50 in 4 years? 07

08
07

15

: er;_e,st;r\at'(_e"“' Eintryfan&‘ Exit load in mutual funds.
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